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And he contracts with them at the lower rate - 23157 2w 372y PO

Overview'

The Xn>12 states that when he 1s »"170 w97 on the account of the loan, he deducts
the price of the n"n according to the lower market rate.” noon clarifies what is
meant with 21177 9yw> powI.
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As the X773 explains shortly that even though he was not o5, it is considered as

if he was 92 and he deducts it 91177 wwo.
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And there is no prohibition to do this on account of n°29, even though he is pep
much less than the ®1;7 "pw.

Summary
The m%n may contract for a very low price even less than the 21177 ww.

Thinking it over
1. Why was it necessary for maoIn to write that »7 Podw "»3 POD K77 A3"YX7, when

the Xn3 explicitly states so (as 19010 himself indicates)?!

2. When mooin writes N7 2w 12 PR, 1s it referring only to the case where he is
DN WWwn Mnd 17277 oo, or is this needed even for the case of 1> pod K77 23"UK
17 podY that nevertheless it is not N°27 (or there is no need to tell us that it is not
n"31 since it is 17 wws)?°

" See ‘Overview to *9m2 "7 'oMn.

? Let assume that a bushel of wheat normally sells for ten dollars. However the 97 2ww is eight dollars. If he is
w91 a bushel of 710 he deducts only eight dollars from the loan not ten. The M%7 is gaining.

? See “Thinking it over’ # 1.

* It seems that MO is teaching us two m3%7; if he is not pow at all he can still deduct it 27 23w> (this is what the
X3 teaches), and if he is P00 he can deduct even less than the 517 ww.

> See ‘Thinking it over’ # 2.
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